




 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 





 

 

 

 
 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 







   



 

 

 

 

 

 





 

 

 

 

 



 



N
/A

 

N
/A

 

T
B

D
 

4
8

2
 (

2
1

8
.6

) 

T
B

D
 

N
/A

 

N
/A

 

T
B

D
 

T
B

D
 

T
B

D
 

N
/A

 

 

N
/A

 

2
5

3
 (

1
1

4
.8

) 

2
9

0
 (

1
3

1
.5

) 

3
6

4
 (

1
6

5
.1

) 

T
B

D
 

N
/A

 

T
B

D
 

T
B

D
 

T
B

D
 

T
B

D
 

N
/A

 

1
5

1
 (

6
8

.5
) 

1
6

2
 (

7
3

.5
) 

1
7

5
 (

7
9

.4
) 

1
9

0
 (

8
6

.2
) 

2
0

3
 (

9
2

.1
) 

T
B

D
 

T
B

D
 

1
9

6
 (

8
8

.9
) 

T
B

D
 

2
3

4
 (

1
0

6
.1

) 

2
5

2
 (

1
1

4
.3

) 

N
/A

 

N
/A

 

5
4

.0
0

 (
1

3
7
2

) 

5
4

.0
0

 (
1

3
7
2

) 

5
4

.0
0

 (
1

3
7
2

) 

N
/A

 

N
/A

 

5
4

.0
0

 (
1

3
7
2

) 

5
4

.0
0

 (
1

3
7
2

) 

5
4

.0
0

 (
1

3
7
2

) 

N
/A

 

N
/A

 

4
2

.0
0

 (
1

0
6
7

) 

4
2

.0
0

 (
1

0
6
7

) 

4
2

.0
0

 (
1

0
6
7

) 

4
2

.0
0

 (
1

0
6
7

) 

N
/A

 

4
2

.0
0

 (
1

0
6
7

) 

(1
0

6
7

) 

4
2

.0
0

 (
1

0
6
7

) 

4
2

.0
0

 (
1

0
6
7

) 

4
2

.0
0

 (
1

0
6
7

) 

N
/A

 

3
0

.0
0

 (
7

6
2

) 

3
0

.0
0

 (
7

6
2

) 

3
0

.0
0

 (
7

6
2

) 

3
0

.0
0

 (
7

6
2

) 

3
0

.0
0

 (
7

6
2

) 

3
0

.0
0

 (
7

6
2

) 

(7
6

2
) 

3
0

.0
0

 (
7

6
2

) 

3
0

.0
0

 (
7

6
2

) 

3
0

.0
0

 (
7

6
2

) 

3
0

.0
0

 (
7

6
2

) 

3
0

.0
0

 (
7

6
2

) 

2
5

.0
0

 (
6

3
5

) 

2
5

.0
0

 (
6

3
5

) 

2
5

.0
0

 (
6

3
5

) 

2
5

.0
0

 (
6

3
5

) 

2
5

.0
0

 (
6

3
5

) 

3
2

.0
0

 (
8

1
3

) 

(8
1

3
) 

3
2

.0
0

 (
8

1
3

) 

3
2

.0
0

 (
8

1
3

) 

3
2

.0
0

 (
8

1
3

) 

3
2

.0
0

 (
8

1
3

) 

3
2

.0
0

 (
8

1
3

) 

2
4

.7
8

 (
6

3
0

) 

3
0

.0
7

 (
7

6
4

) 

3
8

.8
2

 (
9

8
6

) 

4
7

.5
7

 (
1

2
0
8

) 

5
6

.3
2

 (
1

4
3
1

) 

2
4

.7
8

 (
6

3
0

) 

3
0

.0
7

 (
7

6
4

) 

3
8

.8
2

 (
9

8
6

) 

4
7

.5
7

 (
1

2
0
8

) 

5
6

.3
2

 (
1

4
3
1

) 

6
5

.0
7

 (
1

6
5
3

) 

F
le

x
 8

 

F
le

x
 1

2
 

F
le

x
 1

7
 

F
le

x
 2

2
 

F
le

x
 2

7
 

F
le

x
 8

 

F
le

x
 1

2
 

F
le

x
 1

7
 

F
le

x
 2

2
 

F
le

x
 2

7
 

F
le

x
 3

2
 

2
5

" 
D

e
p

th
 

E
n

c
lo

s
u

re
s
 

3
2

" 
D

e
p

th
 

 E
n

c
lo

s
u

re
 



 

 



 

3
0
”

3
0
”

3
0
”

W

O
P

T
IO

N
A

L

R
E

A
R

D
O

O
R

R
E

A
R

D
O

O
R

1
2

0
o

1
2

0
o

1
2

0
o

1
2

0
o

O
P

T
IO

N
A

L

F
R

O
N

T
D

O
O

R
F

R
O

N
T

D
O

O
R

3
0
”

3
0
”

3
6
”

3
6
”

8
3
”

2
5
”

3
2
”

D

HH
1

H
2

W

D

H
3

2
2
.3

1



HH
1

H
2

W

D

H
3

2
2
.3

1

4
0
”

4
2
”

R
E

A
R

D
O

O
R

1
2
0

o

9
2
”

3
2
”

2
5
”

1
2
0

o

F
R

O
N

T
D

O
O

R

3
4
”

3
8
”

7
9
”

D
O

O
R

S
ID

E
C

H
A

M
B

E
R

1
2
0

o



9
1
” 5

4
”

2
7
”

R
E

A
R

D
O

O
R

L
H

S
O

P
T

IO
N

A
L

R
E

A
R

D
O

O
R

R
H

S

1
2

0
o

1
2

0
o

1
0

2
” 3

2
”

1
2

0
o

3
5
”

4
5
”

4
9
”

1
2

0
o

O
P

T
IO

N
A

L

F
R

O
N

T
D

O
O

R
R

H
S

9
9
”

1
2
0

o

1
2

0
o

D
O

O
R

S
ID

E
C

H
A

M
B

E
R

HH
1

H
2

W

D

H
3

2
2
.3

1



 

 

 

 
 

 

 

 

 

 

 

 

 



 

    

   

 

    

 

 

    

   

 

 

 

  

 

 



 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 



 
 
 



 
 
 
 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 



 

 

 



 

 

 

 



 

 

 

 

 

2

1



 

 

 

 

 

 

 

 

 

 







 

(25.00)

[635]

(30.39)

[771, 9]



 

 



 

 

(32.00)

[812, 8]

(30.39)

[771, 9]





 

 

(25.00)

[635]

(41.39)
[1051, 3]



 



 

(32.00)

[812, 8]

(41.39)

[1051, 3]



 



 



 



 

(32.00)

[812, 8]

(52.20)

[1325, 9]





 

 

 

 

 

 

 

 

 



 

 

 
 
 

 

 
 
 

 

 



 

 

Typical sling
arrangement

Shackle

Direction
of pull

The angle
between the sling
cables and the top
of the cabinet shall

not be less than 60°.

Top of Cabinet

Shackle

Never use the sling without

clevises or shackles as this

may break the eyebolts



 

 

 

 

 

 

 



Cabinet with No Side Chambers

Cabinet with 1 Side Chamber

Cabinet with 2 Side Chambers



Lift wind latch arm

to release door.

Lift wind latch arm

to release door.

Remove

(2) bolts using

7/16” socket.

Cabinet with No Side Chambers

Remove

(2) bolts using

7/16” socket.

Repeat step

with side cover

bolts.

Riser Side cover

Riser Front

Cover

Remove

(2) bolts using

7/16” socket.

Cabinet with One Side Chamber

Repeat step

with side cover

bolts.

Riser Side coverRiser Front

Cover

Remove

(2) bolts using

7/16” socket.



 

 

 

 

 

 

 

 



Place Anti-Corrosion Barrier Pad Over
Pad Template Before Attaching

Battery Base

components removed in
illustration for clarity

Install Hardware
as Shown (6 Plcs)

(1/2-13)

Guide pins
for lowering cabinet onto
exact location for mounting
(2 plcs)

Guide pins
for lowering cabinet onto
exact location for mounting
(2 plcs)



Place Anti-Corrosion

Barrier Pad Over Pad Template

Before Attaching Riser

components removed

in illustration for clarity

Install Hardware

as Shown (6 Plcs)

(1/2-13)

Guide pins

for lowering cabinet onto

exact location for mounting

(2 plcs)

Guide pins

for lowering cabinet onto

exact location for mounting

(2 plcs)



Place Anti-Corrosion Barrier Pad

Over the Pad Template

Before Attaching the Plinth

components removed

in illustration for clarity

Install Hardware

as Shown (6 Plcs)

(1/2-13)

Guide pins

for lowering cabinet onto

exact location for mounting

(2 plcs)

Guide pins

for lowering cabinet onto

exact location for mounting

(2 plcs)



Guide pins

for lowering cabinet onto

exact location for mounting

(2 plcs)

Guide pins

for lowering cabinet onto

exact location for mounting

(2 plcs)

Place Anti-Corrosion Barrier Pad Over

Pad Template Before Attaching Battery Base

components

removed in

illustration

for clarity

Install Hardware

as Shown (6 Plcs)

(1/2-13)



Place Anti-Corrosion Barrier Pad

Over Pad Template Before Attaching Riser

components removed

in illustration for clarity

Install Hardware

as Shown (6 Plcs)

(1/2-13)

Guide pins

for lowering cabinet onto

exact location for mounting

(2 plcs)



Place Anti-Corrosion

Barrier Pad Over Pad Template

Before Attaching Plinth

components

removed

in illustration

for clarity

Install Hardware

as Shown (6 Plcs)

(1/2-13)

Guide pins

for lowering cabinet onto

exact location for mounting

(2 plcs)



 

Guide pins

for lowering cabinet

onto exact location

for mounting

(2 plcs)

Install Hardware

as Shown (8 Plcs)

(1/2-13)

Place Anti-Corrosion Barrier Pad

Over Pad Template Before Attaching

Battery Base

components removed

in illustration

for clarity

Guide pins

for lowering cabinet

onto exact location

for mounting

(2 plcs)





Notes:
1. Cable lances are typically

located on equipment rails.

32” Deep Enclosure, No Side Chamber (30” Wide)
(Enclosure with Battery Base Shown, Plinth and Riser Similar)

25” Deep Enclosure, No Side Chamber (30” Wide)
(Enclosure with Battery Base Shown, Plinth and Riser Similar)

OSP Cables

Right Side View Front View

Equipment
Compartment

Equipment
Compartment

Cable Entry
Compartment

Front ViewRight Side View

OSP Cables OSP Cables

Cable Entry
Compartment



Notes:

1. Cable lances are typically

located on equipment rails.

32” Deep Enclosure, One Side Chamber (42” Wide) Shown

Two Side Chambers (54” Wide) Similar

(Enclosure with Battery Base Shown, Plinth and Riser Similar)

25” Deep Enclosure, One Side Chamber (42” Wide) Shown

Two Side Chambers (54” Wide) Similar

(Enclosure with Battery Base Shown, Plinth and Riser Similar)

Right Side View

Access to

Equipment

Compartment

Cable Entry

Compartment

OSP Cables

Right Side View

Cable Entry

Compartment

Access to

Equipment

Compartment

OSP Cables



 

 

 

 

 

 

 

 
 
 
 

 

 
 

 



 

Flex 27 - 42W x 25D side chamber

with 8P Load Center Showing

Cables with Label Tags

Flex 17 - 30W x 32D equipment chamber

with 8P Load Center Showing

Cables with Label Tags

Pair

Location

Table

Cable Tags

Wrapped Around

Cables at the End

of the Cable

Connectors

Cables
Completed

splice



 

 
 

 
 

 

 

 

 

 
 
 
 

 

 

 



 

 

 

 

 

 



32” Deep Enclosure

No Side Chamber (30” Wide)

(Enclosure with Battery

Base Shown, Plinth

and Riser Similar)

25” Deep Enclosure

No Side Chamber (30” Wide)

(Enclosure with Battery Base

Shown, Plinth and Riser Similar)

Right Side

Right Side

Side panel is not shown in illustration for clarity.

Side panel is NOT field removable.



 

32” Deep Enclosure

One Side Chamber (42” Wide) Shown

Two Side Chambers (54” Wide) Similiar

(Enclosure with Battery Base

Shown, Plinth and Riser Similiar)

25” Deep Enclosure

One Side Chamber (42” Wide) Shown

Two Side Chambers (54” Wide) Similiar

(Enclosure with Battery Base

Shown, Plinth and Riser Similiar)

Right Side

Right Side



Flex 17 - 30W x 32D Equipment Chamber

without Load Center

Grooming Bracket

Splice
Bracket

Protection

Block

Protection

Module

Grooming Bracket

Lance Panel

Splice
Bracket

Protection

Block

Protection
Module

Flex 32 - 30W x 32D Equipment Chamber

without Load Center



Flex 17 - 30W x 32D Equipment Chamber

with 8P Load Center

Grooming Bracket

Lance Panel

8P Load

Center

Splice

Bracket

Protection

Block

Protection

Module

Grooming Bracket

Lance Panel

8P Load

Center

Splice

Bracket

Protection

Block

Protection

Module

Flex 32 - 30W x 32D Equipment Chamber

with 8P Load Center



 

Flex 27 - 42W x 25D side Chamber

with 8P Load Center

Access to

equipment

compartment

Flex 27 - 42W x 25D Side Chamber

without 8P Load Center



 

 

 

 







 

 

 

 

 

Rear

of block

ground cable

connector to block

ring terminal from

cable shielded drains



Place

block in

plastic

caps

Place

block in

plastic

caps

Step 1: Arrange the cables of the block over the stand-off

grooming and place the M307 block on the plastic

cap.

Step 2: Rotate the M307 block towards the snap

hook at the top.

Plastic Clip

Plastic Clip

Snap Hook

M307 Protection

Block

Stand-off

Grooming



 

Push

Block

Here

Push

Block

Here

Step 3: Push the top surface of the M307 block towards

the snap hooks.

Step 4: Fix the M307 block by locking with snap hooks.

To remove the block, move the snap hooks and

pull out the block.



Grooming

Bracket

Lance

Panel

Splice

Bracket

EQUIPMENT CHAMBER

Splice

Bracket

SIDE CHAMBER



Main Enclosure

Ground Bar

Protection

Bracket

Ground Bar

Cable from

protection bracket ground bar

goes to main ground bar
Cable from

block goes to

protection bracket

ground bar



each

M307

requires a

ground

wire to

the U-channel

ground

each U-channel has ground bar

and ground wire

Main enclosure ground bar

: Ground straps from each individual blocks will be connected

to protection bracket ground bar. Another ground strap will connect

the main ground bar with each protection bracket ground bar (of each

vertical bracket).

This grounding scheme is the same for side chamber

protection layout as well.



 

 

 

 

 
 

 
 

 



 

 

Ground Bar

Customer
Connection

to Ground Ring

Ground Bar

GRN or GRN/YEL

GRN or GRN/YEL

To Protection

Verticals

GRN or GRN/YEL
To Main GND Bar

Ground Bar

GRN or GRN/YEL

GRN or GRN/YEL

To Protection

Verticals

GRN or GRN/YEL
To Main GND Bar



 

 

 

 

 

 

 



 

32” Deep Enclosure

No Side Chamber (30” Wide)

(Enclosure with Battery

Base Shown, Plinth

and Riser Similiar)

32” Deep Enclosure

One Side Chamber (42” Wide) Shown

Two Side Chambers (54” Wide) Similiar

(Enclosure with Battery Base

Shown, Plinth and Riser Similiar)

Right Side

Equipment

Compartment

Cable Entry

Compartment

AC and Ground

Cable Entry Conduits

Right Side

Side Chamber

Cable Entry

Compartment

AC and Ground

Cable Entry

Conduits

25” Deep Enclosure

No Side Chamber (30” Wide)

(Enclosure with Battery Base

Shown, Plinth and Riser Similiar)

Right Side

Right Side

25” Deep Enclosure

One Side Chamber (42” Wide) Shown

Two Side Chambers (54” Wide) Similiar

(Enclosure with Battery Base

Shown, Plinth and Riser Similiar)

Equipment

Compartment

Cable Entry

Compartment

AC and Ground

Cable Entry Conduits

Side Chamber

Cable Entry

Compartment

AC and Ground

Cable Entry

Conduits



 

Top View of

Equipment Chamber Floor

32” Deep Enclosure

No Side Chamber (30” Wide)

Top View of

Equipment Chamber Floor

25” Deep Enclosure

No Side Chamber (30” Wide)

Top View of

Equipment / Side Chamber Floor

25” Deep Enclosure

One Side Chamber (42” Wide)

Top View of

Equipment / Side Chamber Floor

25” Deep Enclosure

Two Side Chambers (54” Wide)

Front Front

FrontFront

Ground

Cable

Entry

Ground

Cable

Entry

AC

Cable

Entry

AC

Cable

Entry

Ground

Cable

Entry

AC

Cable

Entry

Ground

Cable

Entry AC

Cable

Entry













 



 





N
O

T
E

S
:

1
.
C

O
N

N
E

C
T

O
P

T
IO

N
X

O
R

Y
P

E
R

L
O

C
A

L
C

O
D

E
.

2
.
S

E
C

U
R

E
B

R
E

A
K

E
R

R
E

T
A

IN
IN

G
B

R
A

C
K

E
T

T
O

P
R

E
V

E
N

T
R

E
M

O
V
A

L
O

F
M

A
IN

A
C

B
R

E
A

K
E

R
A

N
D

G
E

N
.
B

R
E

A
K

E
R

S
.

3
.
H

A
N

D
L

E
T

IE
T
O

B
E

M
O

U
N

T
E

D
O

N
T

H
E

M
A

IN
A

N
D

G
E

N
.
B

R
E

A
K

E
R

S
T

O
P

R
E

V
E

N
T

B
O

T
H

B
E

IN
G

O
N

A
T

T
H

E
S

A
M

E
T

IM
E

.

T
O

M
E

T
E

R
E

D

O
V

E
R

C
U

R
R

E
N

T
P

R
O

T
E

C
T

E
D

S
IN

G
L

E
P

H
A

S
E

1
2
0
/2

4
0
V

O
R

1
2
0
/2

0
8
V

S
E

R
V

IC
E

S
H

O
W

N
F

O
R

R
E

F
E

R
E

N
C

E
O

N
L
Y
.

W
IR

E
S

IN
S

T
A

L
L

E
D

IN
F

IE
L

D
.

W
H

T

R
E

D

B
L

K

G
R

N

A
C

L
O

A
D

C
E

N
T

E
R

S
E

E
N

O
T

E
S

2
&

3

C
B

1

C
B

2

C
B

3

1
0
0

A

3
0
A

1
5
A

W
H

T

B
L

K

G
R

N

G
R

N

B
L

K

1
0

A
W

G

T
H

H
N

W
H

T

S
U

R
G

E
P

R
O

T
E

C
T
O

R

G
R

O
U

N
D

B
A

R

T
O

M
A

IN

G
R

O
U

N
D

B
A

R

G
F

I

L
IN

E

L
O

A
D G

N
D

T
E

S
T

R
E

S
E

T

G
N

D

O
P

T
IO

N
A

L
B

A
T

T
E

R
Y

H
E

A
T

E
R

G
R

N

G
N

D

B
L

K

T
’S

T
A

T
H

E
A

T
E

R

E
L

E
M

E
N

T

S
1

1
0

A

S
C

-1
0

N
E

U
T

R
A

L
B

A
R

W
H

T

W
H

T

R
E

D
B

L
K

G
R

N

3
0
A

A
C

G
E

N
E

R
A

T
O

R

P
L

U
G

(F
R

O
N

T
V

IE
W

)

3
0
A

A
C

G
E

N
E

R
A

T
O

R

P
L

U
G

(R
E

A
R

V
IE

W
)

W
H

T R
E

D
B

L
K

G
R

N

1
4

A
W

G

C
B

4
1
5

A

W
H

T

B
L

K

B
L

K

W
H

T

W
H

T

B
L

K

G
R

N

N
E

U
T

R
A

L
B

A
R

1
4

A
W

G

W
H

T

R
E

D

B
L

K

G
R

N

WL
1

L
2

G



N
O

T
E

S
:

1
.

C
O

N
N

E
C

T
O

P
T

IO
N

X
O

R
Y

P
E

R
L

O
C

A
L

C
O

D
E

.

2
.

S
E

C
U

R
E

B
R

E
A

K
E

R
R

E
T
A

IN
IN

G
B

R
A

C
K

E
T

T
O

P
R

E
V

E
N

T
R

E
M

O
V

A
L

O
F

M
A

IN
A

C
B

R
E

A
K

E
R

A
N

D
G

E
N

.
B

R
E

A
K

E
R

S
.

3
.

H
A

N
D

L
E

T
IE

T
O

B
E

M
O

U
N

T
E

D
O

N
T

H
E

M
A

IN

A
N

D
G

E
N

.
B

R
E

A
K

E
R

S
T

O
P

R
E

V
E

N
T

B
O

T
H

B
E

IN
G

O
N

A
T

T
H

E
S

A
M

E
T

IM
E

.

T
O

M
E

T
E

R
E

D

O
V

E
R

C
U

R
R

E
N

T

P
R

O
T

E
C

T
E

D
S

IN
G

L
E

P
H

A
S

E
1

2
0

/2
4

0
V

O
R

1
2

0
/2

0
8

V
S

E
R

V
IC

E

S
H

O
W

N
F

O
R

R
E

F
E

R
E

N
C

E
O

N
L
Y

.

W
IR

E
S

IN
S

T
A

L
L

E
D

IN
F

IE
L

D
.

W
H

T

R
E

D

B
L

K

G
R

N
A

C
L

O
A

D
C

E
N

T
E

R

N
O

T
E

2

W
H

T

B
L

K

R
E

D

G
R

N

CB1

CB2

CB3

60A

60A

15A

Y
X

W
H

T

B
L

K

G
R

N
G

R
N

B
L
K

1
4

A
W

G

W
H

T

S
U

R
G

E

A
R

R
E

S
T

O
R

G
R

O
U

N
D

B
A

R

T
O

M
A

IN
G

R
O

U
N

D
B

A
R

G
F

I

J
2

(G
F

I)

L
IN

E

L
O

A
D G

N
D

T
E

S
T

R
E

S
E

T G
N

D

O
P

T
IO

N
A

L
B

A
T

T
E

R
Y

H
E

A
T

E
R

G
R

N

G
N

D

B
L

K

T
’S

T
A

T
H

E
A

T
E

R
E

L
E

M
E

N
T

S
1

1
0
A

S
C

-1
0

N
E

U
T

R
A

L
B

A
R

W
H

T

G
R

N
/
Y

E
L

W
H

T

R
E

D
B

L
K

G
R

N

6
0
A

A
C

G
E

N
E

R
A

T
O

R
P

L
U

G
(F

R
O

N
T

V
IE

W
)

6
0
A

A
C

G
E

N
E

R
A

T
O

R
P

L
U

G
(R

E
A

R
V

IE
W

)

W
H

T R
E

D
B

L
K

G
R

N

1
4

A
W

G

N
O

T
E

3

CB4

15A

INTERLOCK

6
A

W
G

6
A

W
G

WHT

BLK

BLK

J
1

(G
F

I)



N
O

T
E

S
:

1
.
C

O
N

N
E

C
T

O
P

T
IO

N
X

O
R

Y
P

E
R

L
O

C
A

L
C

O
D

E
.

2
.
S

E
C

U
R

E
B

R
E

A
K

E
R

R
E

T
A

IN
IN

G
B

R
A

C
K

E
T

T
O

P
R

E
V

E
N

T
R

E
M

O
V

A
L

O
F

M
A

IN
A

C
B

R
E

A
K

E
R

A
N

D
G

E
N

.
B

R
E

A
K

E
R

S
.

3
.
H

A
N

D
L

E
T

IE
T

O
B

E
M

O
U

N
T

E
D

O
N

T
H

E
M

A
IN

A
N

D
G

E
N

.
B

R
E

A
K

E
R

S
T

O
P

R
E

V
E

N
T

B
O

T
H

B
E

IN
G

O
N

A
T

T
H

E
S

A
M

E
T

IM
E

.

T
O

M
E

T
E

R
E

D

O
V

E
R

C
U

R
R

E
N

T
P

R
O

T
E

C
T

E
D

S
IN

G
L

E

P
H

A
S

E
1
2
0

/2
4
0

V
O

R

1
2

0
/2

0
8
V

S
E

R
V

IC
E

S
H

O
W

N
F

O
R

R
E

F
E

R
E

N
C

E
O

N
L
Y
.

W
IR

E
S

IN
S

T
A

L
L

E
D

IN
F

IE
L

D
.

W
H

T

R
E

D

B
L

K

G
R

N

A
C

L
O

A
D

C
E

N
T

E
R S
E

E
N

O
T

E
S

2
&

3

C
B

1

C
B

2

C
B

3

1
0

0
A

6
0

A

1
5

A

W
H

T

B
L

K

G
R

N

G
R

N

B
L

K

6
A

W
G

T
H

H
N

W
H

T

S
U

R
G

E
P

R
O

T
E

C
T
O

R

G
R

O
U

N
D

B
A

R

T
O

M
A

IN

G
R

O
U

N
D

B
A

R

G
F

I

L
IN

E

L
O

A
D G

N
D

T
E

S
T

R
E

S
E

T

G
N

D

O
P

T
IO

N
A

L
B

A
T

T
E

R
Y

H
E

A
T

E
R

G
R

N

G
N

D

B
L

K

T
’S

T
A

T
H

E
A

T
E

R

E
L

E
M

E
N

T

S
1

1
0

A

S
C

-1
0

N
E

U
T

R
A

L
B

A
R

W
H

T

W
H

T

R
E

D
B

L
K

G
R

N

6
0

A

A
C

G
E

N
E

R
A

T
O

R

P
L

U
G

(F
R

O
N

T
V

IE
W

)

6
0

A

A
C

G
E

N
E

R
A

T
O

R

P
L

U
G

(R
E

A
R

V
IE

W
)

W
H

T R
E

D
B

L
K

G
R

N

1
4

A
W

G

C
B

4
1

5
A

W
H

T

B
L

K

B
L

K

W
H

T

W
H

T

B
L

K

G
R

N

N
E

U
T

R
A

L
B

A
R

1
4

A
W

G

W
H

T

R
E

D

B
L

K

G
R

N

WL
1

L
2

G



 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 



Top View

Internal Battery Tray

front

INTERNAL BATTERY TRAY

32” DEEP , NO SIDE CHAMBER (30” WIDE) ENCLOSURE ONLY

Battery Disconnect

Circuit Breaker

Internal

Battery Tray

Front View

Battery String(s) Battery String(s)

Battery String(s)

Front View

Battery Disconnect

Circuit Breaker

Battery Disconnect

Circuit Breaker

Internal

Battery Tray

(one, two, or three

trays per enclosure

allowed, depending

on enclosure height)

Note:

-48VDC systems have one (1)

battery string per tray.

+24VDC systems have two (2)

battery strings per tray.



30W x 25D

Battery Base

(Zone 2)

30W x 25D

Battery Base

(Zone 4)

Top View

Battery Tray in Battery Base

front

front

Battery String(s)

Front View

Note:

-48VDC systems have one (1)

battery string per battery base.

+24VDC systems have two (2)

battery strings per battery base.

Battery Disconnect

Circuit Breaker

BATTERY BASE
30” WIDE X 25” DEEP



30W x 32D

Battery Base

(Zone 2)

30W x 32D

Battery Base

(Zone 4)

Top View

Battery Tray in Battery Base

front

front

Battery String(s)

Front View

Note:

-48VDC systems have one (1)

battery string per battery base.

+24VDC systems have two (2)

battery strings per battery base.

Battery Disconnect

Circuit Breaker

BATTERY BASE
30” WIDE X 32” DEEP



42W x 25D

Battery Base

(Zone 2)

Top View

Battery Tray in Battery Base

front

Battery String(s)

Front View

Note:

-48VDC systems have one (1)

battery string per battery base.

+24VDC systems have two (2)

battery strings per battery base.

Battery Disconnect

Circuit Breaker

BATTERY BASE
42” WIDE X 25” DEEP



54W x 25D

Battery Base

(Zone 2)

Top View

Battery Tray in Battery Base

front

Battery String(s)

Front View

Note:

-48VDC systems have one (1)

battery string per battery base.

+24VDC systems have two (2)

battery strings per battery base.

Battery Disconnect

Circuit Breaker

BATTERY BASE
54” WIDE X 25” DEEP



Battery Disconnect Circuit Breakers

Located on Front of Enclosure Option

Battery Disconnect Circuit Breakers

Located on Front and Rear of Enclosure Option

Top View

Battery Tray in Battery Riser

front

Battery Riser

Battery String(s)

Battery String(s)

Battery String(s)

Battery String(s)

Battery String(s)

Battery String(s)

BATTERY RISER

Front View

Note:

-48VDC systems have one (1)

battery string per shelf.

+24VDC systems have two (2)

battery strings per shelf.

Front View Rear View



 

 

 

 

 

 

 

 

 

 

 



Note:

Battery Base: One battery string per shelf. One shelf per battery base.

Battrey Riser: One battery string per shelf. Two shelves per battery riser.

Battery Tray: One battery string per tray. One, two, or three battery tray(s) per

enclosure allowed, depending on enclosure height.

BOTTOM BATTERY SHELF

(Battery String One)

Battery

1A

Battery

1B

Battery

1C

Battery

1D

MIDDLE BATTERY SHELF

(Battery String Two)

Battery

2A

Battery

2B

Battery

2C

Battery

2D

TOP BATTERY SHELF

(Battery String Three)

PRE-WIRED

POSITIVE (+)

BATTERY CABLES

(Battery Return)

PRE-WIRED

NEGATIVE (-)

BATTERY CABLES

(-48Vdc)

-48VDC Battery Disconnect

Circuit Breaker (CB3)

Battery

3A

Battery

3B

Battery

3C

Battery

3D

Inter Cell Connections

+- +- +- +-

-48VDC BATTERY WIRING

PRE-WIRED

POSITIVE (+)

BATTERY CABLES

(Battery Return)

PRE-WIRED

NEGATIVE (-)

BATTERY CABLES

(-48Vdc)

-48VDC Battery Disconnect

Circuit Breaker (CB2)

Inter Cell Connections

+- +- +- +-

PRE-WIRED

POSITIVE (+)

BATTERY CABLES

(Battery Return)

PRE-WIRED

NEGATIVE (-)

BATTERY CABLES

(-48Vdc)

-48VDC Battery Disconnect

Circuit Breaker (CB1)

Inter Cell Connections

+- +- +- +-



 

 

 

 

 

 

 

 

 

 



+24VDC BATTERY WIRING

Note:
Battery Base: Two battery strings per shelf. One shelf per battery base.

Battrey Riser: Two battery strings per shelf. Two shelves per battery riser.

Battery Tray: Two battery strings per tray. One, two, or three battery tray(s) per
enclosure allowed, depending on enclosure height.

PRE-WIRED
NEGATIVE (-)

BATTERY CABLES
(Battery Return)

PRE-WIRED
NEGATIVE (-)

BATTERY CABLES
(Battery Return)

PRE-WIRED
NEGATIVE (-)

BATTERY CABLES
(Battery Return)

BOTTOM BATTERY SHELF
(Battery String One and Two)

Battery
1A

Battery
1B

Battery
2A

Battery
2B

MIDDLE BATTERY SHELF

(Battery String Three and Four)

Battery
3A

Battery
3B

Battery
4A

Battery
4B

TOP BATTERY SHELF

(Battery String Five and Six)

PRE-WIRED
POSITIVE (+)

BATTERY CABLES
(Battery Return)

Battery
5A

Battery
5B

Battery
6A

Battery
6B

Inter Cell Connections

+- +- +- +-

Inter Cell Connections

Inter Cell Connections

+- +- +- +-

+24VDC Battery Disconnect

Circuit Breaker (CB5)

+24VDC Battery Disconnect

Circuit Breaker (CB6)

+- +- +- +-

PRE-WIRED
POSITIVE (+)

BATTERY CABLES
(Battery Return)

+24VDC Battery Disconnect

Circuit Breaker (CB3)

+24VDC Battery Disconnect

Circuit Breaker (CB4)

PRE-WIRED
POSITIVE (+)

BATTERY CABLES
(Battery Return)

+24VDC Battery Disconnect
Circuit Breaker (CB1)

+24VDC Battery Disconnect

Circuit Breaker (CB2)



 

20 AWG

22 AWG

TO INTRUSION
SWITCHES

TO HI/LO
T-STATS

TOAIR
CONDITIONER

MINOR COM

ECU FAIL NC

ECU FAIL COM

ECU FAIL NO

INTRUSION NC

INTRUSION COM

INTRUSION NO

TEMP NC

TEMP COM

TEMP NO

BLK

WHT

RED

BLU

BRN

GRN

VIO

YEL

ORG

TO
ENVIRONMENT

CONTROL
UNIT

BATT BRKR NC

BATT BRKR COM

BATT BRKR NO

BATT BRKR NC

BATT BRKR COM

BATT BRKR NO

BATT BRKR NC

BATT BRKR COM

BATT BRKR NO

BLU/WHT

WHT/BLU

ORG/WHT

BLU/WHT

WHT/BLU

ORG/WHT

BLU/WHT

WHT/BLU

ORG/WHT

TO BATT.
BRKR #1

TO BATT.
BRKR #2

TO BATT.
BRKR #3

24 AWG

MAJOR NO

MAJOR COM

MAJOR NC

MINOR NO

MINOR COM

MINOR NC

DIG IN 2 +

DIG IN 2 -

GRN/WHT

WHT/GRN

ORG/WHT

WHT/ORG

BLU/WHT

WHT/BLU

BLK

RED/BLK

TO 1RU
NETSURE 211

24 AWG22 AWG

INTRUSION

INTRUSION

HI TEMP

HI TEMP

LO TEMP

LO TEMP

AIR COND NC

AIR COND COM

AIR COND NO

BLK

RED

BLK

RED

GRN

WHT

BLK

RED

WHT

MAJOR NO

MAJOR COM

MAJOR NC

MINOR NO

MINOR NC

AC FAIL NO

AC FAIL COM

AC FAIL NC

WHT/BLU

BLU/WHT

WHT/ORG

ORG/WHT

WHT/GRN

GRN/WHT

GRN/RED

TO 2RU
NETSURE 211

OR
NETSURE 502

RED/BRN

BRN/RED

24 AWG

POWER ALARM BLOCKEMPTY ALARM BLOCKCABINET ALARM BLOCK

ECU ALARM BLOCK BATT. BRK. ALARM BLOCK POWER ALARM BLOCK

FOR ECU EQUIPPED CABINETS
ALARM BLOCK 1

FOR CABINETS WITH
EXT. BATT BRKR -

BLOCK 2

FOR CABINETS WITH 1RU
NETSURE POWER SYSTEMS

BLOCK 3

FOR CABINETS WITH 2RU
NETSURE POWER SYSTEMS

BLOCK 3

FOR NON-ECU EQUIPPED CABINETS
ALARM BLOCK 1

NOTE: ALARM BLOCKS ARE INSTALLED FROM TOP TO BOTTOM.
TOPALARM BLOCK IS POSITION 1 AND SHOULD BE ALARM BLOCK 1

THE ALARM BLOCK IN POSITION 2 SHOULD BE ALARM BLOCK 2
(IF APPLICABLE)

THE ALARM BLOCK IN POSITION 3 SHOULD BE ALARM BLOCK 3
(IF APPLICABLE)



 

 

 



 



 

 

  

 

32.5 [39.5]

7.5

25.1

32.5 [39.5]

7.5

25.1

32.5 [39.5]

7.5

18.0



  

   

  

 

Fig. 76 :           Heat Exchanger Air Flow Diagrams 

32.5 [39.5]*

7.5

18.0

32.5 [39.5]*

7.5

24.8

32.5 [39.5]*

7.5

18.0

32.5 [39.5]*

7.5

24.8

7.5

32.5 [39.5]*

24.5

32.5 [39.5]*

7.5

24.8



1000W Heat Exchanger

(Shown on Flex 8)

(Rotate heat exchanger 90°

counterclockwise for Flex 17

and higher RU cabinets.)

FRESH AIR FROM

OUTSIDE CABINET

FRESH AIR FROM

OUTSIDE CABINET

INTERNAL

ENCLOSURE

AIRFLOW

AIR

EXHAUSTED

OUTSIDE

INTERNAL

ENCLOSURE

AIRFLOW

FRESH AIR FROM

OUTSIDE CABINET

AIR

EXHAUSTED

OUTSIDE

1450W Heat Exchanger

(Shown on Flex 17)

FRESH AIR FROM

OUTSIDE CABINET

FRESH AIR FROM

OUTSIDE CABINET

AIR

EXHAUSTED
OUTSIDE

INTERNAL

ENCLOSURE

AIRFLOW

2800W Heat Exchanger

(Shown on Flex 27)



 

 

 

 

 

 
 

 

 

 



 

1450W1000W 2800W

Cabinet Air 1 Thermistor

Cabinet Air 2 Thermistor

unused

unused

External Loop Fans

1000W 1450W 2800W

F04

F05

F06

--

F05

F06

F07

F08

F03

F04

--

--

Internal Loop Fans

1000W 1450W 2800W

F01

F02

F03

--

F01

F02

F03

F04

F01

F02

--

--



1450W1000W 2800W

Cabinet Air 1 Thermistor

Cabinet Air 2 Thermistor

unused

External Loop Fans

1000W 1450W 2800W

F04

F05

F06

--

F05

F06

F07

F08

F03

F04

--

--

Internal Loop Fans

1000W 1450W 2800W

F01

F02

F03

--

F01

F02

F03

F04

F01

F02

--

--

unused



 

2800W
Heat Exchanger #1

2800W
Heat Exchanger #2

2800W
Heat Exchanger #1

2800W
Heat Exchanger #2



 

 

 

 

 

 



 

 

 

 

 

 

 

 



 

 



 

 



1
2
0
m

m
F

A
N

R
P

M

Internal Cabinet Temperature (max.), deg C

1000

2000

3000

4000

5000

40 7050 60 63 67

Int. fans turn

“on” at 1500
rpm @ 30C to

circulate air

1500 rpm fixed speed (both

Int. and Ext. loop same)

OFF

6000

4200

Range of speeds,

per P/I Control

code

At 67C, all fans go full speed

120mm Axial Fan - 1000W and 1450W Heat Exchanger Control Algorithm

NetXtend Flex “APC” CODE

FAN RPM vs. Cabinet Internal Temperature – INCREASING TEMPS

At 63C, Ext. fans limited to

4200rpm, Internal fans not
limited

LEGEND

120mm Axial Fan Speed
5000 rpm @ 54.0vdc (or 27.0vdc)

for increasing temperatures

1500

30

A B

C D

E F

20

Ext. fans turn
“on” at 1500

rpm @ 40C

G

High Temp

Alarm

Temps rising

FULL SPEED

1
2
0
m

m
F

A
N

R
P

M

Internal Cabinet Temperature (max.), deg C

1000

2000

3000

4000

5000

40 7050 60 63

Int.

fans

turn
“off” at

21C

1500 rpm fixed speed (both

Int. and Ext. loop same)

OFF

6000

4200

Range of speeds,

per P/I Control

code

Temp falling, all fans at full speed

120mm Axial Fan - 1000W and 1450W Heat Exchanger Control Algorithm

NetXtend Flex “APC” CODE

FAN RPM vs. Cabinet Internal Temperature – DECREASING TEMPS

At <65C, Ext. fans limited to

4200rpm, Internal fans not
limitedLEGEND

120mm Axial Fan Speed

5000 rpm @ 54.0vdc (or 27.0vdc)
for decreasing temperatures

1500

30

H G

E

C

B

20

Ext.

fans

turn “off
at 26C

A

6521 26 67

D

F

FULL SPEED

NOTE: Shown are turn off points for

1000W. For 1450W Heat Exchanger,

turn off points are 25C (Int.) and 30C

(Ext.)



2
2
5

m
m

F
A

N
R

P
M

Internal Cabinet Temperature (max.), deg C

1000

2000

3000

40 7050 60 63 65

Int. fans turn
“on” at 1000

rpm @ 30C to

circulate air

1000 rpm fixed speed (both

Int. and Ext. loop same)

OFF

Range of speeds,
per P/I Control

code

225mm Radial Fan – 2800Watt Heat Exchanger Control Algorithm

NetXtend Flex “APC” CODE

FAN RPM vs. Cabinet Internal Temperature – INCREASING TEMPS

At >65C, all fans go to full speed

LEGEND
225mm Radial Fan Speed

2800 rpm @ 54.0vdc (or 27.0vdc)

for increasing temperatures

30

A B

C D

E F

20

Ext. fans turn
“on” at 1000

rpm @ 40C

G

High Temp

Alarm

Temps rising

1500

2800

67

FULL SPEED

2
2

5
m

m
F

A
N

R
P

M

Internal Cabinet Temperature (max.), deg C

1000

2000

3000

40 7050 60 63 65

Int. fans
turn “off”
at 17C

1000 rpm fixed speed (both

Int. and Ext. loop same)

OFF

Range of speeds,
per P/I Control

code

225mm Radial Fan – 2800Watt Heat Exchanger Control Algorithm

NetXtend Flex “APC” CODE

FAN RPM vs. Cabinet Internal Temperature – DECREASING TEMPS

Temps falling, all fans at full speed

LEGEND
225mm Radial Fan Speed

2800 rpm @ 54.0vdc (or 27.0vdc)
for Decreasing temperatures

30

I H

E

D C

B

20

Ext. fans
turn “off”
at 22C

A

1500

2800
FULL SPEED

17 22 57

F

G



 

 

 

 
°





 

 

 
 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 





 

 

 

 

30.7
[37.7]

5.7

30.7
[37.7]

5.7



 

  

 

 

30.7

[37.7]

5.7

30.7

[37.7]

5.7

30.7

[37.7]

5.7



 

 

 

 

 



 

Thermistor 1
unused

unused

unused

LED DISPLAY CODES

UP - Controller OK
PC = Product Code

FC = Firmware Code Version X.X.X

C01, C02 - PCB Comm Failure

d01, d02 - Door Open

d03 - Maintenance Mode

MAINTENANCE MODE: Press Button for 6 seconds
to enter 60min. controller disable mode

RESET: Press Button for 11 seconds to reset controller

E01 - Thermistor 1 (J1) FAIL
E02 - Hi Temp

E12 - Lo Temp
E18 - Voltage Low/Disconnect

F01 - J14 Fan Failure (Internal)
F02 - J15 Fan Failure (External)

J12 - Power Input to TEC

TEC WIRING REF ONLY



Thermistor 1
unused

unused

unused

unused

unused



 

 

 

 



 
 
 
 

 

 



 
 
 
 

 

 



 



 



 

 

 

. 



 

 

 
 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 





Flex 8

Flex 27

Flex 17

Standard Filter

Flex 27

Flex 17



 

 

 

 

 

 
 

 

 



 

 

UP - Controller OK

C01 - FAN PCB FAILURE

F01 - J16 INTERNAL FAN #1 FAIL

F02 - J17 INTERNAL FAN #2 FAIL

LED DISPLAY CODES

d01 - DOOR OPEN
d02 - DOOR AJAR
d03 - MAINTENANCE MODE

E01 - TH1 FAIL

E07 - HIGH TEMP #1

E12 - LOW TEMP #1

Thermistor 1
unused

unused

unused

unused

unused

unused

unused

Fan #2

Fan #1
unused

unused



Cabinet Air 1 Thermistor

Cabinet Air 2 Thermistor

unused

Fan #1

Fan #2

unused



 



 

 

 

. 



 

 

 
 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 





 



 

 

 

 

Not 

Available 

in this 

Enclosure 

Size 

  

 
 

 

31.5

[38.5]

6.4

31.5

[38.5]

6.4

34.9

[41.9]

9.8

34.9

[41.9]

9.8

36.3

[43.3]

11.2



 

 

    

    

34.9

[41.9]

9.8

36.3

[43.3]

11.2

34.9

[41.9]

9.9 11.3

36.3

[43.3]
36.3

[43.3]

10.9 13.0

38.0

[45.0]

34.9

[41.9]

9.9

11.3

43.4

10.9

43.1

13.0

45.1



 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

Typical Door wtih

Fan Filter Assembly.

STANDARD FILTER

(Outside View)

COVER

Remove by removing

lower (2) 1/4-20 x 1” tamper-resistant

screws and lifting cover up and out

from top side pins.

STANDARD FILTER

Remove by removing

(6) 10-32 x 3/4” bolts.



 

 

 

 

 

 

 

 

 

 



 

 

 

 

Typical Door with

Fan Filter Assembly,

HYDROPHOBIC FILTER

(Outside View)

Air Flow Label

COVER

Remove by removing

lower (2) 1/4-20 x 1” temper-resistant

screws and lifting cover up and out

from top side pins.

PRE-FILTER

Remove by removing

(4) 10-32 nuts.

HYDROPHOBIC

FILTER

Remove by removing

(6) 1/4-20 x 1” bolts and

(6) 1/4” lock washers

securing the filter top

and bottom.

PRE-FILTER BRACKETS

Remove by removing

(6) 1/4-20 x 1” bolts and

(6) 1/4” lock washers

securing the brackets and

the filter sides.



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



FAN ASSEMBLY

Remove by removing

(4) 1/4-20 x 1” bolts

and (4) 1/4” lock washers.

Remove by removing

(4) 6-32 lock nuts,

(8) #6 flat washers, and

(4) 6-32 x 2.5” screws.

FAN

FAN BAFFLE

Remove by removing

(4) 6-32 lock nuts.
Typical Door with

Fan Filter Assembly

(Inside View)

Air Flow

Arrow



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 



  

Air Flow

Arrow

Air Flow

Arrow

No. 4 Flat Washers

4-40 Ext. Lock Washers

4-40 Pan-Head Screws

No. 4 Flat Washers

4-40 Ext. Lock Washers

4-40 Pan-head Screws

1450W Heat Exchanger Internal Fan Replacement

1000W Heat Exchanger Internal Fan Replacement



  

Shroud Removal

Remove Hardware:

- (4) 1/4-20 x 0.75 Machine Screws

- (4) 1/4-20 Rubberized Washers

- (4) 1/4-20 Hex Threaded Inserts

botto
m

Air Flow

Arrow

Air Flow

Arrow

Shroud

Outside of Door

with Shroud Removed

Outside of Door

with Shroud Removed

External

Fans

Shroud

External

Fans

Shroud Removal

Remove hardware:

- (4) 1/4-20 x 0.75 Machine Screws

- (4) 1/4-20 Rubberized Washers

- (4) 1/4-20 Hex Threaded Inserts

No. 4 Flat Washers

4-40 Ext. Lock Washers

4-40 Pan-Head Screws

No. 4 Flat Washers

4-40 Ext. Lock Washers

4-40 Pan-Head Screws

1450W Heat Exchanger External Fan Replacement

1000W Heat Exchanger External Fan Replacement



 

 

 

 

 

 

 

 

 

 

 

 

 

Lower

Shroud

Upper

Shroud



 

 

 

(8) Sets (4 sets per fan)
- 1/4-20 x 0.75 Machine Screws

- No. 10 Flat Washers
- M5 Hex Nuts

(6 sets per mounting plate)
- No. 8 Flat Washer

- 8-32 Lock Nut

Fan Outer
Mounting Plate

Fan Outer
Mounting Plate

Outside of Door with
Shrouds Removed

(4 sets per fan)

- #8 Lock Washers (External Tooth)

- Pan-head Screws

Fan Inner

Mounting Plate



 

 

 

 

 

 

 

 

 

 

1/4-20 Machine Screws

(4 sets per fan)

- 1/4-20 Rubberized Washers

- 1/4 Flat Washers

- 1/4-20 Hex Nut

Fan Shroud

Outside of Door with

Shrouds Removed



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 



Remove Bolt

and Washer

(4) Locations

Remove Bolt

and Washer

(4) Locations

Remove Bolt

and Washer

(4) LocationsShroud

Shroud

Typical Door

with Single TEC

(Inside View)

Typical Door

with Dual TEC

(Inside View)

REMOVING FAN

Push Rivet

(4) Locations

Push Rivet

(4) Locations

Push Rivet

(4) Locations
Air Flow

Arrow

Typical Door

with Single TEC

(Outside View)

Typical Door

with Dual TEC

(Outside View)

Air Flow

Arrow

Air Flow

Arrow



 

Push Rivet

(4) Locations

Push Rivet

(4) Locations

Typical Door

with Single TEC

(Inside View)

Typical Door

with Dual TEC

(Inside View)

Push Rivet

(4) Locations

Air Flow

Arrow

Air Flow

Arrow

Air Flow

Arrow



 

 

 

 

 

 

 

 

 

 

 





 

 

 

 

 

 



 

 

 
 

 

 

 





 



 

 



 









 





mailto:CustomerService.ESNA@VertivCo.com
mailto:ESNACustomerSupportCenter@VertivCo.com
mailto:AccountManagement.ESNA@VertivCo.com
mailto:DCpower.Spares@VertivCo.com
mailto:OSP.Spares@VertivCo.com
mailto:DCpower.Repair@VertivCo.com
mailto:ESNA.FieldService@VertivCo.com
mailto:DCpower.TAC@VertivCo.com
mailto:OSP.TAC@VertivCo.com



	Admonishments Used in this Document
	Important Safety Instructions
	Safety Precautions Definitions
	General Safety Precautions
	You Must Follow Approved Safety Procedures

	Voltages
	AC Input Voltages
	DC Output and Battery Voltages

	Battery
	Specific Safety Precautions
	Personal Protective Equipment (PPE)
	Hazardous Voltage
	Handling Equipment Containing Static Sensitive Components
	Maintenance and Replacement Procedures

	Static Warning
	About this Document
	Purpose
	Additional Information

	Description
	Application
	Physical Specifications
	Standards Compliance
	Enclosure Features and Options
	Mechanical
	Climate Control
	Controller
	Battery Options
	Rack Units
	AC Power Options
	Grounding
	Mounting Options
	Cable Entry
	Protection Options


	Preparation and Precautions
	Installation Overview
	Tools and Test Equipment
	General Safety and Precautions

	Opening and Closing the Enclosure Doors
	Available Latch Types
	Opening a Door
	Procedure

	Closing a Door
	Procedure


	Site Selection
	Transportation and Storage
	Enclosure Placement
	Installing a Concrete Pad
	Procedure

	Unpacking the Enclosure
	Lifting Preparation
	Equipment Required:

	Mounting Preparation
	Procedure


	Pad Mounting
	Procedure

	OSP Cables
	General
	Installing OSP Cables (Copper and Fiber)
	Installing Cables
	Procedure

	Splicing Copper Cables
	Installing Fiber Cables
	Procedure


	Sealing Cable Entries
	Procedure


	Protection
	M307 Protection Field Install
	Procedure


	AC Power
	Safety Precautions
	Enclosure AC Schematic
	Grounding the Enclosure
	Ground Bar Locations
	Procedure


	AC Input Connections
	General
	General Procedure

	AC Input Junction Box Kit P/N 544966 - Typical Wiring (120VAC/15A)
	AC Input Junction Box - Typical Wiring (120VAC/15A)
	AC Input Junction Box - Typical Wiring (120VAC/15A)
	8-Position Load Center Kit P/Ns 544970 and 546425 - Typical Wiring
	12-Position Load Center Kit P/N 547095 and 547096 - Typical Wiring
	240VAC/15A Twist Lock Receptacle Kit P/N 545101 - Typical Wiring
	240VAC/30A Twist Lock Receptacle Kit P/N 545102 - Typical Wiring
	Optional 30A Generator Connection Kit P/Ns 544974 and 547097 - Typical Wiring
	Optional 60A Generator Connection Kit P/Ns 546478 and 547098 - Typical Wiring


	Installing and Connecting Batteries
	Safety Precautions
	General
	Installing Batteries
	Procedure

	Wiring Batteries
	-48Vdc Systems
	Procedure

	+24Vdc Systems
	Procedure



	Alarm Wiring
	Alarm Wiring (same information for both single and dual bay documents)

	Climate Control Options
	Heat Exchangers
	Procedure
	Heat Exchanger Environmental Control Unit (ECU)
	Heat Exchanger Thermal Components
	ECU Control of the Heat Exchanger Thermal Components (+24Vdc and -48Vdc ECU)
	Enclosure Temperature Sensors
	Fan Speed Control Scheme

	Failure Modes
	Thermistor Failure Open or Short
	Fan Speed Low

	ECU User Interface (+24Vdc and -48Vdc ECU)
	Initial Start-Up Sequence
	Start-Up Sequence

	LED Display Codes
	External Alarms
	Intrusion Alarm
	To Disable Audible Alarm
	Intrusion Alarm Timer

	Maintenance Mode
	Manually Exiting Maintenance Mode
	Resetting the Maintenance Mode

	Resetting the ECU


	Thermoelectric Coolers (TEC)
	TEC Environmental Control Unit (ECU)
	TEC Thermal Components
	ECU Control of the TEC Thermal Components
	Failure Modes
	Thermistor Failure Open or Short
	Fan Speed Low

	ECU User Interface (+24Vdc and -48Vdc)
	Initial Start-Up Sequence
	Start-Up Sequence

	LED Display Codes
	RED and RED/BLUE LEDS
	External Alarms
	Intrusion Alarm
	To Disable Audible Alarm
	Intrusion Alarm Timer

	Maintenance Mode
	Manually Exiting Maintenance Mode
	Resetting the Maintenance Mode

	Resetting the ECU


	Fan Filter Assembly
	Fan Filter Assembly Environmental Control Unit (ECU)
	Fan Filter Assembly Thermal Components
	ECU Control of the Fan Filter Assembly Thermal Components
	Failure Modes
	Thermistor Failure Open or Short
	Fan Speed Low

	ECU User Interface (+24Vdc and -48Vdc)
	Start-Up Sequence
	LED Display Codes
	External Alarms
	Intrusion Alarm
	To Disable Audible Alarm
	Intrusion Alarm Timer

	Maintenance Mode
	Manually Exiting Maintenance Mode
	Resetting the Maintenance Mode

	Resetting the ECU


	Air Conditioners
	Environmental Controls
	User Interface


	Maintenance and Replacement Procedures
	Battery Maintenance (+24Vdc and -48Vdc enclosures)
	Procedure

	Filter Maintenance
	Standard Filter
	Hydrophobic Filter (Filtered Air Intake)
	Filter Assembly Replacement - Hydrophobic Patches

	Fan Filter Assembly - Standard Filter Replacement
	You Will Need-
	Replacing the Filter-
	Procedure


	Fan Filter Assembly - Hydrophobic Filter Replacement
	You Will Need –
	Replacing the Filter –
	Procedure


	Fan Filter Assembly - Fan Replacement
	You Will Need –
	Replacing a Fan –
	Procedure


	Heat Exchanger - Fan Replacement
	You Will Need –
	Replacing an Internal or External Fan (1000W and 1450W Heat Exchanger) –
	Procedure

	Replacing an Internal or External Fan (2800W Heat Exchanger) –
	Procedure


	Thermoelectric Cooler - Fan Replacement
	You Will Need –
	Replacing an Internal or External TEC Fan –
	Procedure


	ECU Replacement
	Removing Existing ECU Assembly
	Installing ECU
	Completing ECU Installation


	When Field Replacement
	Cabinet Identification

	Accessories and Replacements
	DC Power, Outdoor Enclosure & Service Contacts

